>
x
=
=5
7
wn
<
@
~+
m
3
a

R

E&BIEMRS
ST
fEEE
BRI




DGLEZFEIIEA

DGL &%

HREDGLATEREL BN EIE RS BN T EL B iR IFM mHIINTHR R = S EEEA,

F
> R N aa
[ FTEDGLAARE LB 2 A N BIRENEFHWAUMAFI T O H 4 BAFAIM AKM AR T B ES B AL AUMT BT )
Eu}
BB o LUEI TEE D, #1TREESIFMFEN B AIMMAKMB &S 25, &6 R 2l RiE6h, EEEMEMNE.
a
B3
ES
= 3SR (Fon m IE{ERES] (Fok N | 55 i
EgEN| F L s win | G |
so | 100 [ 30 | so0 [ 1000 | 1500 o0
DGL150-AJM30-B2 ! ! ! 041
214.7 5
; ? 777777777777777 - - - - L 100 %
\’ AMZ5] | DGLLS0-AIM30-B4 | 1294 | a2 | ¥
& | AMRSL | EEERTETETE — 0y R A
! | | | | | ]
DGL150 &
ﬁ G150 AU -5 |y 176 | | 1200 | 043 | 3
AUM Z5% [ [ [ [ [ ﬁJ
T T T T T gé
‘ DGL180-AJM50-B2 369 ‘L i‘ 046
; & 77777777777777777777 e 100 =
| V53
\’ L e ————— 7381 i 047 f%‘
DGLLSO DGL180-AUM3-52 : 048 .
e e e 1200 =
AUM %5] | DGL180-AUM3-S4 578 ‘ 049
[ A
s‘ DGL200-AJM80-B2 5502 | 052
AJM 5] | DGL200-AJM80-B4 1100.4 053 %ﬁﬁ
P s e H R E i bl S B 100 ¥
\’ \ DGL200-AKMS50-B2 054 -
‘ o peL200-AkM50-34 D, 225 . | 055 5
AKM 251 1159.3 8
DGL200 | T T Ol T T 1200 T
4 DGL200-AUM4-S2 056 a
AUMZ5] | DGL200-AUM4-S4 1248 057 %
]
5 . p— T
m FEHES] (Fen) m [R{E#E S (Fpk) s N 752 T PA
500 | 1500 | 2000 [ 2500 | 3000 [ 3500 (mm)
| | | |
‘ DGL260-AJM100-B2 7045 ‘ ‘ ‘ 060
s ********** m T et nlt s M
AJM &5 DGL260-AJM100-B4 1409.1 | | | 061
) : - === = i e 100
\’ s DGL260-AKM100-B2 ! ! ! 062
\ ‘ 777777777777777 - 1 _ _ _ | ~
DGL260-AKM100-B4 063
DGL260 AR R R — 3,2251, 1200
4 DGL260-AUMS-S2 1415 ‘ ‘ ‘ 064
]
AUM %5 | DGL260-AUMS-S4 2830 065
] %]
£
O TIREBRIBHEATIE g
2
w
°
2
-
4
<<

039



DGL &7

S E

Carriage
Top Cover
Encoder
Travel Lock
Motor Track
Hard Stopper
End Plate Linear Guide
Motor Coil
Scale
Base
Side Cover
EH EH
DGL150 Bt & THG AT
oy DGL150 B A5l DGL150 TE 25!
\
BB AJM30-B2 AJM30-B4 AUM2-S4
FEED N 68.1 136.2 35.2
I&EHES N 214.7 429.4 176.0
BRITIZ mm 100-1200 100-1200 100-1200
par s um 0.05/0.1/0.5/SINCOS
TTL 0.5/SINCOS 45h328: £3
ESEMRE um
#3342 0.05 45F32s: £1; TTLO0.1 4Rh328: =1
KFEEEE um/mm 10/500 10/500 10/500
FHEAE um/mm 20/500 20/500 20/500
SHIEHRE kg 2.4 3.5 11
TESNEH kg 10 20 20
RABIFMRIIEE Nm 102 102 41
RARIHFN5E Nm 145 218 36
RARFEEIE Nm 145 218 36

A

o FPENEHEEFEAREE UMAERAE L.

o MEBEET RN BNEARAE,

o LU EFAESENIREE, BRRKR BRIV HRE R,

SwalsAs sIquY

040



DGL150 Bt AT

m DGL150-AJM30-B2 R~TE

rrJ:Jlimit switches extension cable out

DGL &%

5
[e-e— 60 -——o T
Motor,hall,encoder cable out 2% ©3.0THRU 8x ¥ 42 T 14.0
L@ 8.0H7 ¥ 10.0 M5x0.8-6H ¥ 10.0
— St/2+10(- Hardstop position) St/2+10(+ Hardstop position)
o St/2+2(- Electrical limit position » o St/2+2(+ Electrical limit position)
St/2-8(Home index position)
M [ . ° . ° ! n
55 - S——
2 o ©
Hle ® ® ® ® ® ® ® ®€"
- 164 -—
(2N+4) x @ 5.5 THRU ALL
L ®10.0 V5.0 (2N+4) x © 4.2V 12.4
®8.0H7V 8.0 From far side M5x0.8-6H ¥ 10.0 ®8.0H7 x 10.0 V8.0
/ n. . |
s ’ ’ ’ R A I S [V —
- - - - - - - - \T
S VN N AN NI 1
I - ] ) ) - . R |
: 5
120
33 (N-1)x120 — 33
Ls
— = B s g
guiTR | | BAKELls | gars | WAE-ARESL
(mm) (mm) (kg) DGL150AJM30 &%
100 3 370 8.3 EE <2m/s
#4277 100% 5tE
200 3 470 9.7 25
300 5 570 110 B T~
x 15
400 5 670 12.4 i 10 —\
® 5
500 5 770 13.7 0
0 50 100 150 200 250 300 350
600 7 870 15.1 BEKE(mm)
——AJM30-B4 ——AJM30-B2
700 7 970 16.4
800 9 1070 17.9 mH-EE s
900 9 1170 19.2 FyERHa%% AJM30-B2 FIERH#ALE AIM30-B2
TREZRERE: 310V A H T
1000 9 1270 206 250 ERSERE 310 25 ERBLEIE: 600V
1100 1n 1370 219 200 S 200
= 150 e \ = 150 \~\
1200 11 1470 23.3 < 100 £ 100
50 T 50
OU 2 4 6 8 10 12 14 0 0 5 10 15 20 25
B (m/s) HE (m/s)
—Eh l=31=V] —8gh IE(E5

BYSSBoH

B

B =i

“

>SRN S0 TN

N
od

5 Y 1

HE SRR Il

e

&

JIRSL;

D>

RN

Akribis Systems

041



BB

MBS

TS

[}

<]

SHN

FERE! I

By

St

Sk

i

O-H I

D>

-HIN

SwalsAS sIquY

042

DGL &%/

m DGL150-AJM30-B4 R~TE

240

206

154

ELLimit switches extension cable out ’

2
- , ‘
Motor,hall,encoder cable out 2 x @ 3.0 THRU 8x 0427 14.0
L ®80H7V 10.0 M5x0.8-6H V¥ 10.0
- St/2+10(- Hardstop position - e St/2+10(+ Hardstop position)
o St/2+2(- Electrical limit position) o St/2+2(+ Electrical limit position)
St/2-8(Home index position)
= T - 0 s I H [2)
ymil s - o .
=l ® ® ® ® ® %%
— 164 -—
(2N+4) x @ 5.5 THRU ALL
L 1®»100 V5.0 (2N+4) x @ 42 TV 12.4
©8.0H77 8.0 From far side M5x0.8-6HV 10.0 ®8.0H7x10.0 ¥8.0
er T T 1
H o——- - - - - - - - =
i . S , . b , . %
T T
- - —— - - —i - - \
—] o—- - - - - -—- - - =
L T
- 120
33 (N-1) x 120 33
= = BE_ vy 4%
gaiTR | | BAKELls | mars | "EE-AHBZ
mm (mm) (kg) DGL150AJM30 &7
100 3 430 9.8 JEE <2m/s
F§4247 100% &t
200 3 530 11.2 25
300 5 630 126 Bl -
x 15
400 5 730 141 10 T
® 5
500 7 830 15.5 0
0 50 100 150 200 250 300 350
600 7 930 16.7 BEKE (mm)
——AJM30-B4 ——AJM30-B2
700 7 1030 18.2
800 9 1130 19.5 m - EE gk
900 9 1230 210 F75eES AIM30-B4 S AIM30-B4
TR ERE: TR ERE:
1000 11 1330 22.3 500, BERE&EE: 310V 500 BERELBE: 600V
1100 11 1430 237 oo 400
= 300 2 300
1200 13 1530 25.1 = 200 £ 200 ‘
100 ] 100 :
0 0
0 2 4 6 8 10 12 14 0 5 10 15 20 25
HE (m/s) RE (m/s)
—®gh [:31=wa] —R®Egh [e31=ba]




DGL150 ki &5

W DGL150-AUM2-S4 R~ E

I:J::;imit switches extension cable out

DGL &%

<
3
Motor ,hall,encoder cable out ﬂTHRU ALLT 8x 42 vV 14.0
L ®80H7 Vv 10.0 M5x0.8-6H v 10.0
St/2+10(- Hardstop position) St/2+10(+ Hardstop position)
St/2+2(- Electrical limit position) St/2+2(+ Electrical limit position) ,
‘ St/2-8(Home index position ‘
| — - | .
=l @ o o = . .
€] (¢)
el ® ® ® ® e (©) o)
| 164
(2N+4) x @ 5.5 THRU ALL
L J®10.07 5.0 (2N+4) x ® 42 V 12.4
®8.0H778.0 From far side M5x0.8 - 6H ¥ 10.0 $8.0H7x 10.0 v8.0
K i - O— - ——- - - o—-——- - =
! \ -
— - o—— - ——- - - o— - —I—- - =
——
120
p 334 (N-1) x 120 334
Ls
A g— = BE_ i Hh4%
aiE | mEKEs | gaEe | WEE g
(mm) (mm) (kg) ocizsonz 4
®E < 2m/s
100 ! 313 >5 §4577 100% b
200 3 413 6.9 25
20
300 3 513 8.0 P15
w
400 5 613 9.4 = 12
500 5 713 10.8 0
0 50 100 150 200 250 300 350
600 7 813 11.9 BEKE (mm)
700 7 913 13.3
800 7 1013 14.7 mH-EE s
111 15.7 N . N
900 S 3 > T RS AUMD- 54 HERIEE
1000 9 1213 17.0 200 MEZBLE: 310V 200 EREEHE: 310V
i i
1100 11 1313 18.3 A%ﬁg %[218
1200 11 1413 19.4 £100 Z100
R 80 80
60 60
40 40
2 2 \
0 4 8 12 16 20 0 5 10 15 20 25 30 35 40
RE(m/s) HE (m/s)
B .72 I— I&fESh BN - 1-%]

BYSBoH

B 2 I

B i

“

> SR RIN S0 TN

N
od

HEES S S It

espei e

=

&

UL

D>

RN

Akribis Systems

043



DGL &%/

1T gFEN (OPN)

mDGL150 (B#iT)
&
2 RS
2 o bmweES0 ..
-

e
|

<]

3 B BRI
af
S
q
i
[}

AN
By=

35 45 G it

m DGL150 (T&ith)

Ob-H e

DD e

RN

b=
O FRETIZEIE 100mm, T EAMET, BB R AR E T2,

swaisAs siquy

044



DGL &%

DGL180 Bkit: & LR AT

s DGL180 BHE &5 DGL180 FEE &7
Bl * AJM50-B2 AJM50-B4 AUM3-S2 AUM3-54
RSN N 117.0 234.0 57.0 113.0
IE{EH#E S N 369.0 738.1 289.0 578.0
BRITE mm 100-1200 100-1200 100-1200 100-1200
PHRE pm 0.05/0.1/0.5/SINCOS
e RS um TTLO.5/SINCOS 4Ri528: =3

#3478 0.05 45F328: +1; TTLO.1 45F3258: +1

KFELE um/mm 10/500 10/500 10/500 10/500
BEHEAE um/mm 20/500 20/500 20/500 20/500
FTHEBEMRE kg 35 49 2.9 3.9
HEREH kg 20 30 40 50
RABIFMIRII4E Nm 140 140 140 140
RABIFFDNIE Nm 145 218 145 218
RABIFHEIRNE Nm 145 218 145 218
i

. AN R R TR AR S m AR AT L,

o MEBHEET ML BNERE,

o LU EFRBSHAREE, BRR IR IR SREVSH R R

BYSEH

B IS

IEISE S

[

[

S SR S -HION

NS
o=

5 Y O

(G

f
A

\

e

i

A

3

o

D>

IS ShNtSg

Akribis Systems

045



BY=> B0 |

MRS

Sk

=)

[

1S St ‘

j=ug
ey

FERE I

By

SwalsAs sIquY

046

DGL &7

DGL180 B#kiL &5

m DGL180-AJM50-B2 R~TE

180
146 —
iimit switches extension cable out -4
[ -6—— ! ‘
2 4 —
y g 3
— = - '
Motor,hall,encoder cable out 2% @ 3.0 THRUALL 8x®50 T 17.0
L1 ®»80H7 ¥V 10.0 M6x1.0-6H ¥ 12.0
___ St/2+10(- Hardstop position) _ ___ St/2+10(+ Hardstop position)
St/2+2(- Electrical limit position St/2+2(+ Electrical limit position
- t/2-8(Home index position) -
= T g B I H ‘ (@ [
— _ § — ~ EL o o
! P P 0 o °
A ) °
le ® ® ® ® ' © Q
— 203 -
(2N+4) x @ 5.5 THRU ALL
L ®10.0 V5.0 (2N+4) x @ 5.0 ¥ 17.0
®»8.0H7 V8.0 From far side M6x1.0-6H ¥ 12.0 $»8.0H7 x 10.0 ¥8.0
/ ﬂﬂ M| o LI 1 -
N /- Z i : . I G R \
7 HH
| : i : . i . i |
[ ° I
- 120
- (N-1) x 120 _
— Ls -
_ - = = BE_ vy 2%
BuiTe | BAKEls | gare | WEEAR®S
(mm) (mm) (kg) DGL180AJM50 271
100 3 420 12.7 HEE <2m/s
#4577 100% 5Eb
200 3 520 14.5 40
300 5 620 16.6 530
% 20
400 5 720 184 z —_\
500 7 820 20.4 0
0 50 100 150 200 250 300
600 7 920 22.3 BEKE (mm)
700 7 1020 243 ——AJM50-B4 ——AIM50-B2
800 9 1120 26.2 m - RE g4k
900 9 1220 28.3 FIiRHALE AIM50-B2 FrEgL AIM50-B2
SR EE: 310V B EE: 600V
1000 11 1320 30.1 400 400
350 30| T
1100 11 1420 323 3% .
_ __ 240
Z 200 z
1200 11 1520 33.9 = 150 160
e eo
0 0
0 2 4 6 8 0 10
BE (m/s) JREE (m/s)
—8gh =31z —8gEh &EH

15



DGL &%

m DGL180-AJM50-B4 R~TE

240 E
— 206 - N
D‘Emit switches extension cable out e 154 _ — | 4
3%k
[ | )
- B3
o =
=
I
—— . — | 12
Motor,hall,encoder cableout —— ‘ ; =
2 x @ 3.0 THRUALL 8x 50 ¥V 17.0
L) ®80H7 ¥ 10.0 M6x1.0-6H ¥V 12.0 P
__ St/2+10(- Hardstop position) ___ St/2+10(+ Hardstop position) I\jl
St/2+2(- Electrical limit position) St/2+2(+ Electrical limit position :éF
___St/2-8(Home index position) | 5]
A H = =
° ° 3 o[® |, &l
b ] ] N
=l ® ® ® ® ® [©] (] 2
- 203 -—
(2N+4) x @ 5.5 THRU ALL %
L_1®10.0 V5.0 (2N+4) x @ 5.0 ¥ 17.0 %E
®8.0H7V 8.0 From far side M6x1.0-6H ¥ 12.0 ®8.0H7 x 10.0 ¥ 8.0 A
Mo s T . '
4/ . i . . s . BRWE [ ]
/ \ ]
i ‘ 1=
r _ ] _ _ ] B _ _ o s A
I /#
- - o - - R - - | 7
= i e ] S i ) ¥
- 120 J
3 - ~ (N-1) x 120 o 3
— Ls o §
XF
PN
=
%
B2 A .
auiTE | BAKELs | gare | WAE-ARESZ &
(mm) (mm) (kg) DGL180AJM50 &5
100 3 480 15.1 RE <2m/s
F§4277 100% &t
200 5 580 17.2 40
300 5 680 19.0 30
% 20
400 5 780 211 B o —'_\
500 7 880 23.0 0
0 50 100 150 200 250 300
600 7 980 25.1 BEKE (mm)
700 9 1080 26.7 —AJM50-B4 ——AJM50-B2
800 9 1180 28.9 m - E L%
900 9 1280 30.8 FIEERLE AIM50-B4 FiEehLE AJM50-B4 n
SRR EE: 310V MR E:
1000 11 1380 327 900 BB 310 900 BB 600V E,
A1) I . 750] e il @
1100 11 1480 34.6 600 e 600 iy
1200 13 1580 36.7 Z 450 Z 450 @
R 300 R 300 2
150 150 4
00 2 4 8 00 3 6 12 15 =
HE (m/s) RE (m/s)
—®Eh & —8Eh - [E3i=wa]

047




BB

MRS

TS

[}

]

SoHIN

FERE I

By

SwalsAs sIquY

048

DGL &7

DGL180 ki &5

W DGL180-AUM3-S2 R~ &

180
146

94

imit switches extension cable out

i
g
e j ‘
Motor,hall,encoder cable out 2% @ 3.0 THRU ALL 8x @50 T17.0
L ®8.0H7 ¥ 10.0 M6x1.0-6H T 12.0
- St/2+10(- Hardstop position - < St/2+10(+ Hardstop position -
a St/2+2(- Electrical limit position) o St/2+2(+ Electrical limit position)
| - St/2-8(Home index position) - ‘
et ‘ e ®
] | o Mo o
4 % o o
) )
o] ) ) ® ® | e © [©)
| (2N+4) x @ 5.5 THRU ALL ! - 203
L1 ©10.0 V5.0 (2N+4) x @ 4.2 T 14.0
©?8.0H77 8.0 From far side M5x0.8-6H T 10.0 ®8.0H7 x 10.0 V8.0
/ "—ﬂ | o LI 1 \
= o— - -—- - - -—{- -
g,/ , o , , , \ |
! \ |
[/ _ _ _ _ _ _ _ _ ] 8
1 Z - Z Z s ] ) |
120
33 - — (N-1) x 120 -
- Ls
b= = BE_ vy 2t
guiR | BAKELls | gars | "SE-ARBE
(mm) (mm) (kg) DGL180 AUM3 Z3
100 3 372 11.7 EE < 2m/s
$54277 100% & tb
200 3 472 14.1 60
300 5 572 16.0 40
400 5 672 184 & 20 X
&
500 5 772 20.9 0
0 50 100 150 200 250 300
600 7 872 228 BEERE (mm)
700 7 972 253 ——AUM3-54 ———AUM3-S2
800 9 1072 27.8 m /- E g%k
900 9 1172 27 FmHiL - AUM3 -S2 SREHEEE PR AN 52511512
32 3 . br o
1000 9 1272 32.1 350 BERSABE: 310V 350 BERS&EE: 310V
300 300
1100 11 1372 345 250 250
= 200 Z 200 \
1200 11 1472 36.5 % 150 = 150
100 100
50 " 50
0 S 0 A
0 2 4 6 8 10 12 14 0 4 8 12 16 20 24
HEE (m/s) HEE (m/s)
RN ----I&EH RN ----I&EH

28



DGL &%

W DGL180-AUM3-S4 R~ &

5
240 PN
N ' 206 i)
Ijtmlt switches extension cable out 154 E=|
bri
. 0 I ]
B3
- ES
I ] N 3
=
I
I 1 i i i ruj
| | =
—pre—e—r-r ———e o]
Motor,hall,encoder cable out— 2 % % 3.0 THRU ALL 8x 350 v 17.0 %
Lo 8.0H7 v 10.0 M6x1.0-6H v 12.0 i
St/2+10(- Hardstop position) St/2+10(+ Hardstop position) E
PAN
St/2+2(- Electrical limit position St/2+2(+ Electrical limit position E:’IJ
| St/2-8(Home index position) =
[ =
e — I H— Te o ?ﬂ
= : O o & o ]
0| o o )/|\
™ - [} (] 7
— ] ‘ | @ ] ) @ ‘ ) @ @
] \ 203
(2N+4) x ¢ 5.5 THRU ALL B
L J®10.0 v5.0 (2N+4) x ® 4.2 ¥ 14.0 %5
©»8.0H778.0 From far side M5x0.8 - 6H ¥ 10.0 ©8.0H7 x 10.078.0 %E
4
I —; s T 1 &
0 e ———— - ———— &— - —- - - o—- © @ - o —5
i 1 I N IS =)
1=
) ) ) ) ) ) ) ) . SR A
fd
_ _ _ . pit)
— - - - — o —5 :LF\
T s =
120
33 (N-1) x 120 33
Ls 2
1'2
pAN
=
%
A .
— - = = B b 42 T
Bxie | | BAKEL | ogaRe | WAE-AREZ &
(mm) (mm) (kg) DGL180 AUM3 25
100 3 432 13.9 FE < 2m/s
#5477 100% &tb
200 3 532 16.5 50
300 5 632 18.4 ® 40
400 5 732 20.8 & 20 4\
d:\
500 7 832 23.2 0
0 50 150 200 250 300
600 7 932 25.2 BEKE (mm)
700 7 1032 27.6 —— AUM3-S4 —— AUM3-S2
800 9 1132 30.0 m -3 E ghisk
900 3 1232 321 PRGNS SR PR AUMI-S4 SR 2
1000 11 1332 345 700 BB 700 EAGEENE: 3 ]
600} 600 | k7
1100 11 1432 36.9 500 500 &
= 400 = 400
1200 13 1532 38.9 Z 300 i 300 E
200 2. . 200 E
108 108 c =
0 2 6 0 2 4 6 8 10 12 14
SEE (m/s) EE (m/s)
A ----I&EH 8N ----IE{EH

049



=B0H

s
oy

el

=3k

i

[}
=H

“

S SIS BTN ‘ 5

e
o4

H35 454 G i

=

]

Oh-H I

O ek

RN

swaisAs siquy

050

DGL &%

1 gFEN (OPN)

mDGL180 (&)

b=
O FRETIZEIE 100mm, T EAET, BB R A B E T2,




DGL200 B Xt & LR R Y

DGL &%

B DGL200 BEEE AT DGL200 FEks &5
=178 AJM80-B2 AJM80-B4 AKM50-B2 AKM50-B4 AUM4-S2 AUM4-S4
REED N 1745 348.9 361.3 722.6 110.0 221.0
IE1EH#E N 550.2 1100.4 805.3 1610.5 624.0 1248.0
BHITE mm 100-1200 100-1200 100-1200 100-1200 100-1200 100-1200
SR pm 0.05/0.1/0.5/SINCOS
e um TTLO0.5/SINCOS #5B38%: +3

#3338 0.05 4wE9es: +1; TTLO.1 47i8s: £1
KEELE um/mm 10/500 10/500 10/500 10/500 10/500 10/500
EEHEAE um/mm 20/500 20/500 20/500 20/500 20/500 20/500
SHEERE kg 4.2 6.1 8.6 14.2 32 4.4
ME R kg 20 30 35 50 60 70
RABFMRAE Nm 249 249 249 249 166 166
RABHHPAE Nm 145 218 218 546 145 218
BABIFHIZENE Nm 145 218 218 546 145 218

W

. AR T BAR RS MAEE AT L,
« NEMEEFRANE VR,

o LU EFMESHNREE, BRABRIUBIREUS HER.

SBH

N
N}

B IS

oS3

[e

s

AN ey R ez 1 S

5 Y 1O

(G

1B
il

A

i

A

3

o

D>

RN

Akribis Systems

051



BB

MRS

ik

[}

<]

SHION

FERE I

By

St

Sk

G

Oh-H I

D>

-HIN

SwalsAs sIquY

052

DGL &%/

DGL200 B AT

m DGL200-AJM80-B2 R~TE

180

146

94

DEmit switches extension cable out

i ™)
~
[e-—e—-——0———6 ¢
Motor,hall,encoder cable out 2 x ® 3.0 THRU ALL 8x $5.0 v 17.0
L1 ®8.0H7 V¥ 10.0 M6x1.0-6H Vv 12.0
St/2+10(- Hardstop position) ___St/2+10(+ Hardstop position)
St/2+2(- Electrical limit position) St/2+2(+ Electrical limit position
St/2-8(Home index position)
= I K S S I H )
= : —° - Eko °
> o ‘o
= ] @ @ ) ] ] @ @
(2N+4) x @ 5.5 THRU ALL - 225 —
L ©10.0 ¥ 5.0 (2N+4) x ® 5.0 ¥ 17.0
®8.0 H7 V8.0 From far side M6x1.0-6H ¥ 12.0 ®8.0 H7 x 10.0 ¥8.0
[ —; s T \
H el _ _ I _ _ i _ _ H
! |
T - o i t ) o i i |
—] ¢ - - ini - - -Ar- - - -
° T
- 120
33, (N-1) x 120 33,
Ls
— P = — - ¢ Hh4
guiTe | | BaAKEls | paRs | WEE-AHd
mm (mm) (kg) DGL200AJM80 F5!
EE<2m/s
420 14.7
100 3 F§4R77 100% &b
200 3 520 16.9 40
300 5 620 19.3 530
% 20
400 5 720 215 2 —\
500 7 820 23.9 0
0 50 100 150 200 250
600 7 920 26.1 BEKE (mm)
——AJM80-B4 ——AJM80-B2
700 7 1020 28.5 N s
1R E itk
800 9 1120 30.5
J7iRERLE AJIM80-B2 J7iRELE AJMB0-B2
900 9 1220 33.1 600 BREEE: 310V 600 BERE%EE: 600V
1000 11 1320 35.2 so0 s00[
400 400
1100 11 1420 37.6 Z 300 Z 300
1200 11 1520 39.8 R 200 R 200
100 100
01 34 5 0
6 0 2 4 8 10
& (m/s) B (m/s)
s 72 e37=wa] - 72 [E37=wa]



m DGL200-AJM80-B4 R~ E

DGL &%

240
206
iimit switches extension cable out 154
™)
~
o -9 —— - —F
Motor,hall,encoder cable out—
2x ¢ 3.0 THRU ALL 8x ¢ 50 v 17.0
L1 ®80H7 Vv 10.0 M6x1.0-6H v 12.0
St/2+10(- Hardstop position) St/2+10(+ Hardstop position)
St/2+2(- Electrical limit position St/2+2(+ Electrical limit position
St/2-8(Home index position)
A | B I H ® ®
I = — N kt: ]
b=l o o
= ) | ) ) ) ) ) [} [} CFE
! (2N+4) x ¢ 5.5 THRU ALL 225
L9 10.0 V5.0 (2N+4) x » 5.0 ¥ 17.0
®8.0H778.0 From far side M6x1.0-6H ¥ 12.0 »8.0H7 x 10.078.0
Mo 3 - \
H [ _ _ I _ _ i _ _ | H
[ i e . i i _ 1
/ |
 m— - - ST T - - - - - [
120 ° '
33, (N-1) x 120 33
Ls
_ - = = BE_ vy 4%
BuiEe | BAKEls | gare | WEEAR®S
(mm) (mm) (kg) DGL200AJM80 RFI
EE<2m/s
480 17.8
0 ° 54277 100% 5Lt
200 5 580 20.1 40
300 5 680 224 530
% 20
400 5 780 24.8 B —\
500 7 880 26.8 0
0 50 100 150 200 250
600 7 980 29.4 BREKE (mm)
—AJM80-B4 —AJM8B0-B2
700 9 1080 315
800 9 1180 338 m-RE g4k
900 9 1280 36.1 Fikensk AIMSO-B4 o AJMSO-B4
STREHEEE: bk S23 k:
1000 11 1380 385 1200 BERB%HEE: 310V 1200 BEREEEE: 600V
1000[ T 1000[ T
1100 11 1480 40.7 300 800
1200 13 1580 43.1 Z 600 Z 600
R 400 R 400
200 200
00 1 2 3 4 5 6 00 4 8 10
IR (m/s) EEE (m/s)
—®Eh - 37wl —En e 3i=bal

BYSBoH

B 2

B S

“

> SR AI S0 TN

N
od

HEES S S It

MBS BRIl

e

&

UL

D>

RN

Akribis Systems

053



BB

MRS

TS

[}

<]

SHON

FERE I

By

Sk

]

Oh-H I

D>l

-HIN

SwalsAs sIquYY

054

DGL &%/

m DGL200-AKM50-B2 R~TE

Dl:mit switches extension cable out

o)
~
TpFe—e— —¢ o]
Motor,hall,encoder cable out/ 2 x ¢ 3.0 THRU ALL! 8x ¢ 5.0 v 17.0
L 1@ 8.0H7 v 10.0 M6x1.0 - 6H 7 12.0
St/2+10(- Hardstop position) St/2+10(+ Hardstop position)
St/2+2(- Electrical limit position St/2+2(+ Electrical limit position)
‘ . St/2-8(Home index position)
T 1 —— s a ®
N 1 — ] o d
oL 'S o
— @ e
le |1 ® ® ® | e 7@
] ‘ (2N44) x ¢ 5.5 THRU ALL | 225
L1100 7 5.0 (2N+4) X ¢ 5.0 T 17.0
$8.0H778.0 From far side M6x1.0 - 6HV 12.0 $8.0 H7 x 10.078.0
[ [T o [T 1 \
H ol N i N - N — . H
[ . o . e . |
] |
B B e B -t B B
—d - - T - ST - - =
120 : '
33 (N-1) x 120 33
Ls
— " = = BE_ v H 4%
gaie| | BaKEs | gare | "SE-RRHS%
(mm) (mm) (kg) DGL200 AKM50 271
HE <2m/s
100 3 480 19.8 #5457 100% et
200 5 580 21.8 gg
300 5 680 24.2 540
ﬁ’ 30
400 5 780 26.2 & fg
0
500 7 880 283 0 20 40 60 80 100 120 140 160 180 200
600 7 980 30.2 REKE (Mm)
___AKM50-B4 —AKM50-B2
700 9 1080 32.1
800 9 1180 346 m R E 4k
900 S 1280 367 R AKMSO 82 DR AKUS0-62
1000 7 1380 384 1000 T EBE: 310V 1000 TREHERE: 600V
100 | 11 1480 405 o) I o
= 600 = 600
1200 13 1580 42.9 i 400 < 4o
200 200
0 0
0 1 2 4 5 0 2 4 6
RE (m/s) EE (m/s)
—#gn e GBS —mah e B

10



W DGL200-AKM50-B4 R~TE

BLL:imit switches extension cable out

370

33

NSECN

=N

O

DGL &%

5

™|
~
i Sl . A, ——— i J—— . =
Motor,hall,encoder cable Uﬁ(uﬂ—‘
2 % @ 3.0 THRU ALL 16 x 5.0 7 17.0
L ¢ 8.0H7 v 10.0 M6x 1.0-6H v 12.0
St/2+10(- Hardstop position St/2+10(+ Hardstop position
St/2+2(- Electrical limit position St/2+2(+ Electrical limit position)
|\y278(Homeindex osition) | ‘
=
=i T ° I M ] []
— 5 N .
o ‘o
= @ | ‘ ® ® ® ® ® ® ‘ @ @ @ ﬁ
I (2N+4) x9 5.5 THRU ALL [ 225
L3100 v.5.0 (2N+4) X ¢ 5.0 ¥ 17.0
$8.0H7 78.0 From far side M6x1.0-6H T 12.0 $8.0 H7 x 10.0 78.0
M 7 T
i H
. . B . . B B 2 . . e
— - - - - - - - T T - - [
T T
120
3 (N-1) x 120 3
Ls
— " = = BE_ i 4%
auiTE | BAKELs | gare | "SE-AHBE
(mm) (mm) (kg) DGL200 AKM50 %5
EE <2m/s
100 3 610 284 $542 100% 5t
200 5 710 30.4 gg
300 7 810 32.3 ©®40
ﬁ 30
400 7 910 34.4 & %g
0
500 7 1010 36.8 0 20 40 60 80 100 120 140 160 180 200
600 9 1110 38.7 BEKE (mm)
—_AKM50-B4 —AKM50-B2
700 9 1210 40.6
800 11 1310 4.6 m - RE g4k
900 11 1410 44.8 F75E %% AKM50-B4 F73Eeh%E AKM50-B4
1800 B4 EE: 310V 2000 BB EE: 600V
1000 11 1510 471 | ST
1500 N 12100 S — -
1100 13 1610 49.0 = 1;82 \\\ - 1200 \\\
1200 13 1710 51.0 E 600 S E 800 s
300 400
0 0
0 ! Jél* (m/ 3) ! ° 0 > %F( /s) s
B S = (m/s
—R®gh - [E3T=Wa) —®gh 21wl

10

BYSBoH

B IS

(sl

“

>SRN S0 TN

AN
od

HEES S S 0t

MBS BRIl

e

&

UL

D>

RN

Akribis Systems

055



DGL &%/

DGL200 ki 25

m DGL200-AUM4-S2 R~TE

F:u: 180
PN 146
i;,j';, I£mit switches extension cable out 94
- [ 6-—-6—- 1
e
7 .
£
ES I
~
=
i
in]
&
£ m/w e I
5 Motor,hall,encoder cable o 2% & 3.0 THRUALL 8x $50 v17.0
b LJ®»80H7 ¥v10.0 M6x1.0-6H v 12.
& St/2+10(- Hardstop position) St/2+10(+ Hardstop position)
E’J St/2+2(- Electrical limit position) . St/2+2(+ Electrical limit position)
= [ St/2-8(Home index position)
o)) [ [ |
b S 1 [ M ) ]
= S .
o S . .
-0 @ @
E = ] i i €] @ ] @ i ] @ @
z l (2N+4) x @ 5.5 THRU ALL ! 225
%;(— L 1910,0v 5.0 (2N+4) x® 5.0 ¥ 17.0
75 ®8.0H778.0 From far side M6x1.0-6H ¥ 12.0 »8.0H7 X 10.078.0
Mo s o —
—r H e— - ——k- - - O -l - — -
=
B . . B B O B .
1%
A ! | | |
it i i |
L |
AN
=} ©o— - - ©— - —L - - - %H———- - ©o— -
— ¢ - - —=-—r- - - O— - - - —- =
s T
% 120
= 33 (N-1) x120 33
% 5
P4
‘ZE BE 4
L |mmr | maxEs | saps | WRE-REHdK
(mm) (mm) (kg) DGL200 AUM4 251
HE < 2
100 3 380 14.6 ?%ii; 1000/;néstt
200 3 480 18.0 100
75
e 5 580 204 2 5 \
400 5 680 23.8 @ 25 \
0
500 5 780 27.2 0 50 100 150 200 250 300 350
600 7 880 29.6 AEKE (mm)
e AUM4-S4 e AUM4-S2
700 7 980 33.0
800 9 1080 36.4 m - RE g4k
> 900 9 1180 38.9 JIERhL-AUMA-S2 SREXER F7iRHALE - AUM4-S2 HEE
= BRI EE: 310V BEmS%EE: 310V
=) 1000 9 1280 42.2 700 700
T 600 600
©w 1100 11 1380 45.6 500 500
) = 400 = 400
S 1200 11 1480 48.1 < 300 300
o 200 200 N
3 100 100 \
(7] 0 N 0 \
0 2 4 6 8 10 0 2 4 6 8 10 12 14 16
R (m/s) SEEE (m/s)
BN ----I&fEH N - 1%

056



W DGL200-AUM4-S4 R~ E

DGL &%

240
- 206 —
IJ;imit switches extension cable out 154
[ 6 —6—- ——é -  E— ‘
a
- o~
— e '
Motor,hall,encoder cable out
2 x ¢ 3.0 THRUALL 8x ¢ 50 ¥V 17.0
L ®8.0H7 ¥ 10.0 M6x1.0-6H ¥V 12.0
St/2+10(- Hardstop position) St/2+10(+ Hardstop position)
St/2+2(- Electrical limit position) St/2+2(+ Electrical limit position
i St/2-8(Home index position) |
I= B 0 ; H [)
i=h = . .
| g | < <) ‘o
— ] | @ @ @ ] @ @
| 225 -
(2N+4) x @ 5.5 THRU ALL
L] ®10.0 ¥ 5.0 (2N+4) x @ 5.0 ¥ 17.0
®8.0H7V 8.0 From far side M6x1.0-6H ¥ 12.0 ®8.0H7x 10.0 V8.0
M—m s - \
e s S s o |
! ‘ |
\1 - + s - - - - s - + i 5 E
| | '
| R o i o R |
[
— 120
3 - (N-1) x 120 -— 33
— Ls —
_ . o — BE_ ; 4%
gaiTe | | BaAKELls | gare | WSE-ARBS
(mm) (mm) (kg) DGL200 AUM4 5
HE 2
100 3 440 17.6 Wk 100amLs
200 3 540 21.0 100
75
300 5 640 23.5 2 50 \
#w
400 5 740 26.9 & 2(5)
500 7 840 30.2 0 50 100 150 200 250 300 350
600 7 940 32.7 REKE (mm)
——— AUM4-S4 ——— AUM4-S2
700 7 1040 36.1
800 9 1140 39.4 m })-EE 4k
900 9 1240 41.9 FIEERL-AUMA-S4 BRI FEHLS-AUMA-S4 HEEE
BEREENE : 310V EmSEEE: 310V
1000 11 1340 452 1400 = 1400 5%
1200 =, 1200 [========7==mmmmmmmy “
1100 11 1440 48.6 =1000 S 1000
3 800 = 800
1200 13 1540 51.1 5 600 = 600
< 400 R 400
200 . 200
0 = 0
0 6 0 4 6 10
SRS (m/s) HE (m/s)
RN - I&fEh —48h ----I&fEH

BYSBoH

B IS

B =i

“

>SRN S0 TN

AN
od

HEES S S 0t

MBS BRIl

e

&

UL

D>

RN

Akribis Systems

057



S8

e
o4

el

=3k

=

]

“

> RTINS0 -H i

e
o4

H35 434 G it

=

3

Oh-H I

Pt

RN

swaisAs siquy

058

DGL &%l

1T gFEN (OPN)

m DGL200 (5%t

b=
O AKMS0RFIFE S = ARF B E,
O TRETIZIBIE 100mm, NFEMIEIR, BB R A I HE TR,



DGL260 Bt & THELRT

DGL &%

s DGL260 BEH GRS DGL260 TEHE R 5!
B2 * AJM100-B2 | AJM100-B4 | AKM100-B2 | AKM100-B4 AUMS5-S2 AUM5-S4
RSN 223.4 446.8 722.6 1445.3 197.0 393.0
BT 704.5 1409.1 1610.5 3221.1 1415.0 2830.0
BRITIE mm 100-1200 100-1200 100-1200 100-1200 100-1200 100-1200
Par i pm 0.05/0.1/0.5/SINCOS
T um TTL 0.5 /SINCOS #4##58%: £3
343 0.05 4mA388: £1; TTLO.1 488 +1

IKFEEE pm/mm 10/500 10/500 10/500 10/500 10/500 10/500
BHEZE pm/mm 20/500 20/500 20/500 20/500 20/500 20/500
SHEDRE kg 6.1 8.6 12,6 22 6.6 9.9
ME R EH kg 50 70 50 70 120 140
BRAT RS Nm 350 350 350 350 350 350

RABHIHI5E Nm 145 218 350 584 310 545

RABIFEIENE Nm 145 218 350 584 310 545

b=

o FRENESEETFRARKESUMAEREE L,

o MEMIEETHEIUBNEAR .

o LUEPRESHNREE, BRAIR IUBREUT HE R,

BYSEH

B IS

oS3

[e

s

S RS HION

NS
o=

5 Y 1O

(G

1B
il

A

5

i

A

3

o

D>

RN

Akribis Systems

059



BB

MRS

TS

[}

<]

SHON

FERE I

By

St

Sk

]

Oh-H I

D>l

-HIN

SwalsAs sIquYY

060

DGL &%/

DGL260 Bk R Y

m DGL260-AJM100-B2 R~ &

180
| 146
Limit switches extension cable out 94 .
Jz B e IS
~
&
{ e———— il
Motor,hall,encoder cable out— 2 x ¢ 3.0 THRUALL 8x ®»50V17.0
L1 ®8.0H7 v 10.0 M6x1.0-6H v 12.0
St/2+10(- Hardstop position) St/2+10(+ Hardstop position)
St/2+2(- Electrical limit position St/2+2(+ Electrical limit position
St/2-8(Home index position
| |
A [ | ° ° [ I M
1 1 1 =
S
= [l 1
] L ) ) ) ) )
‘ ‘ (2N+4) x ¢ 6.6 THRU ALL |
L 1911.0V 6.4 (2N+4) x ¢ 5.07 17.0
»8.0H7V 8.0 From far side M6x1.0-6HV 12.0 ®8.0 H7 x 10.0 v8.0
[ e . \
[
% , , , _ _ _ - _ _ _ g8
’ I | o~
120
33, (N-1) x 120 33,
Ls
e = . = = ' B4
guiTiE | | BAKELs | gars | WEB-AHEEA
(mm) (mm) (kg) DGL260AJM100 &%
100 3 420 19.7 HE <2m/s
$§4£77100% St
200 3 520 22.8 80
300 5 620 26.1 590
ﬁ 40
400 5 720 29.2 & 20
500 7 820 325 0
0 20 40 60 80 100 120 140
600 7 920 35.7 ABEKE (mm)
700 7 1020 39.1 —AJM100-B4 —AJM100-B2
800 9 1120 42.0 m 1R E sk
900 9 1220 455 FIEE#RZ AJM100-B2 F13REhZ AJM100-B2
BERSL&EE: 310V BERE%HE: 600V
1000 11 1320 48.5 70— - §gg
600 B -]
. 600 .
1100 11 1420 51.9 450 e 500
1200 1 1520 55.0 £ 300 £ %0
200
150 100
0 0
0 1 2 3 4 0 2 4 6
RE (m/s) ERE (m/s)
—8Eh - [:31-wa] —8®¥ghn [e3i=wa]




m DGL260-AJM100-B4 R~TE

DGL &%

r——‘%é‘é
Ei:mit switches extension cable out 154 .
{ 6 -6 L e e
~
Q
Motor,hall,encoder cable ou'c//[Iﬂ !
2x ¢ 3.0 THRUALL 8x »50 v 17.0
L 1®8.0H7 ¥ 10.0 M6x1.0-6H ¥12.0
St/2+10(- Hardstop position) St/2+10(+ Hardstop position
St/2+2(- Electrical limit position) | St/2+2(+ Electrical limit position)
i | _St/2+2(Home index position
S = — r - . s
o O
sl - .
— ® ®
o || ® ® ® ® ) [©] Q
! (2N+4) X @ 6.6 THRU ALL 269
L9110 7 6.4 (2N+4) x 5.0 ¥ 17.0
#8.0 H7v 8.0 From far side M6x1.0-6H v 12.0 ®8.0 H7 x 10.0 v8.0
T3 .
i 7 ; 7 L i 7 ; 7 i ‘ 7 ; 7 i
| I
| \
@ o~
| i
L ] B ] ] ] 1
T T
— - - s - é - b--h--6 - - L
120
33 (N-1) x 120 33,
Ls
_ = = = BE_ v Hh2%
gaiTe | | BaAKEls | gare | WEE-ARBE
(mm) (mm) (kg) DGL260AJM100 &%
100 3 480 23.8 EE <2m/s
#5477 100% SLb
200 5 580 27.3 80
300 5 680 30.2 590
3\@ 40
400 5 780 33.6 & 20
500 7 880 36.7 0
0 20 40 60 80 100 120 140
600 7 980 40.1 BEKE (mm)
700 9 1080 43.2 ——AJM100-B4 ——AJM100-B2
800 9 1180 46.5 m J)-RE g4k
900 9 1280 49.6 JIERehLE AJM100-B4 F3E#hL; AJM100-B4
BERS&EE: 310V BERSLEE: 600V
1000 11 1380 53.0 1500 ————— 9 1500 ————————
1250 1250 N
1100 11 1480 56.1 1000 1000
1200 13 1580 59.4 Z 750 Z 750
R 500 R 500 ~
250 250
0 0
0 1 3 4 0 2 4 6 8

— B8N

BYSBoH

B 2 I

[Rsit=kas

“

>SRN S0 TN

N
od

HEES S S 0t

ey Gy

B

&

IR SL;

D>

RN

Akribis Systems

061



BB

MRS

SISk

[}

]

SHIN

FERE I

By

St

SWwalsAS sIquY

062

DGL &%/

W DGL260-AKM100-B2 R~ E

240

212

148

‘i;imit switches extension cable out

Motor,hall,encoder cable out —

St/2+10(- Hardstop position)

2 X © 3.0THRUALL
L ®8.0H7 v 10.0

8 X

50 v 17.0
M6x1.0-6

HV 12.0

St/2+2(- Electrical limit position)

St/2-8(Home index position)

St/2+10(+ Hardstop position)

St/2+2(+ Electrical limit position)

|
|
o ‘ — — - -
| il N Tl - O
r [T T =T i = T = I .
! ! - © ©
= ® [ } @ @ @ [ @ @ @
(2N+4) X @ 6.6 THRU ALL 269
L J®11.0 V6.4 (2N+4) X ® 5.0 ¥ 17.0
®8.0HT V8.0 From far side M6X1.0-6H V¥ 12.0 ®8.0H7 X 10.0 ¥8.0
m . |
H o—f——o0 - S—-—0 - o o—-—I -0 - o——-—|-o—H
%, B N N N S S
|
V/ !
| |
I B — B — ]
I - i m— - : b - S
120
33 (N-1) X 120 33,
Ls
— - = — BE_ v 4%
A | mEkEs | opams | WRE fAg itk
(mm) (mm) ( g) DGL260AKM100 &%
HE <2m/s
100 3 480 308 #4277 100% &tb
200 5 580 342 80
300 5 680 38.3 2%
=40
®
400 5 780 419 B x
500 7 880 452 0
0 200 40 60 80 100 120 140 160 180 200
600 7 980 48.6 BEKE (mm)
——AKM100-B4 ——AKM100-B2
700 9 1080 52.1
800 9 1180 56.2 B - ERE g%k
900 9 1280 59.6 F3E %% AKM100-B2 F3E L% AKM100-B2
ERE L EE: 310V E RS EE: 600V
1000 11 1380 63.2 1800 2000
1500 [ 1600 femmmmmmmmmmees .
1100 11 1480 66.5 s 1388 2 1200
1200 13 1580 70.0 R o0 R 800
300 400
0 0
0 0.5 i;ﬁ (m 55.5 2 2.5 0 1 %ﬁ (m/s?)) 4
ey L (o) ey L (8



W DGL260-AKM100-B4 R~ E

Efmit switches extension cable out

370

342

278

128

DGL &%

~
&
Motor,hall,encoder cable out 2x ¢ 3.0 THRUALL 16 % ©5.0 v 17.0
", L1 ®8.0H7V 10.0 M6x1.0-6HV 12.0 .
St/2+10(- Hardstop position) St/2+10(+ Hardstop position)
St/2+2(- Electrical limit positign St/2+2(+ Electrical limit position
St/2-8(Home index position ‘
= . A
: : |
° i ° ° ° ° ° | o
| (2N+4) x ¢ 6.6 THRU ALL ‘
LI1®11.0 V64 (2N+4) x ¢ 5.0 ¥ 17.0
®»8.0 H7TV 8.0 From far side M6x1.0-6HV 12.0 ®8.0 H7 x 10.07 8.0
/ -
H ®_/‘ 6 _ _ L. _ o N ; _ o~ 1L - . _ \ H
Uttt — 7 AT [ i \
B B | ! | L |
| | | : o o
S S S e R
L | | \ | \ | | i
N A U 1 il -
120
3 (N-1) x 120 33
Ls
— . P — BE_ v 4%
g | mEkEs | opams | WRB fAE itk
(mm) (mm) ( g) DGL260AKM100 &%
HE <2m/s
100 > 610 445 #4277 100% it
200 5 710 479 80
300 5 810 513 2%
=)
i
400 7 910 54.7 2 x
500 7 1010 58.9 0
0 200 40 60 80 100 120 140 160 180 200
600 9 1110 62.3 BEKE (mm)
——AKM100-B4 —AKM100-B2
700 9 1210 65.7
800 11 1310 69.1 m R E gLk
900 11 1410 726 ﬁﬁtif‘AKM1007B4 775%{?%AKM100-B4
1000 11 1510 76.7 3600 BB EBE: 310V 3500 BB BE: 600V
K 3000 [T
1100 13 1610 80.1 2400 2500 .
= RN = RN
1200 13 1710 83.6 = 1800 £ 1500
1200 1000
600 500
0 0
0 0. Jg%ﬁ( /1).5 2 2.5 0 1 é]ﬁ( /3) 4
B (m/s E
—mgn e 87 — " wER

BYSBoH

B I

(SR

“

>SRN S0 TN

N
od

HEES S S 0t

S

s

e

&

ISl

D>

RN

Akribis Systems

063



BYS> B0 |

MRS

Sk

=)

[

1S St ‘

j=ug
ey

FERE I

By

SWalsAS sIquYY

064

DGL &%

DGL260 xR Y

W DGL260-AUM5-S2 R~ E

240
212

148

J;imit switches extension cable out

o7

s —-

—

Motor,hall,encoder cable out —
2 x ¢ 3.0 THRUALL
L ®8.0H7 ¥ 10.0

8x 950 V17.0
M6x1.0-6H ¥ 12.0

__ St/2+10(- Hardstop position)
__St/2+2(- Electrical limit position)
‘ St/2-8(Home index position)

—

___St/2+10(+ Hardstop position)
St/2+2(+ Electrical limit position)

) ® ® ®

® ® )

(2N+4) X ® 6.6 THRU ALL
L1110 T 6.4

(2N+4) x @ 5.0 ¥ 17.0

®8.0H7 V8.0 From far side M6x1.0-6H ¥ 12.0 ®»8.0H7x 10.0 ¥8.0
[T}
H @ - @ - i — @ - @ @ ST T - @ - S—H
# o i N B G [
|
! !
O o
v N~ o)
- - - - — - - — o
| |
— ) i : i ) 1
I . i . L . Bl |
120
— (N-1) x 120 - 3
- LS T—
h— = BE_ s
guiR | BAKELs | gars | "AE-RIHS%
(mm) (mm) (kg) DGL260 AUMS5 251
HE <2m/s
4 4
100 3 80 30 542 100% kL
200 5 580 35.3 150
300 5 680 423 100
400 5 780 472 & 50
=)
500 7 880 52.0 0
0 50 100 150 200 250 300 350 400
600 7 980 56.8 BEKE (mm)
700 9 1080 61.7 ——AUM5-S4 ——AUM5-S2
800 9 1180 68.8 m-RE g4k
900 9 1280 736 L -AUMS-S2 BB A ks AUMS-S) 3Bt
Pses k: TREBEBE:
1000 n 1380 785 1600 BRL%HEE: 310V 1600 L EE: 310V
1400 f=mmmmmmmmmmmmmnnes 1400
1200 1200
1100 11 1480 83.3 _ oo _ 100
< 800 £ 800
1200 13 1580 88.2 = o = &0
400 e 400
200 AN 200
0 ™ 0
0 1 2 3 4 5 0 2 4 6 8
RE (m/s) RE (m/s)
B - IE{ES 0 - lEfES




W DGL260-AUM5-S4 R~TE

DGL &%

370 =
332 )
268 A
182 z
Limit switches extension cable out 118
g S -6 -6 -6 - —© -6 -6 b - -
3%k
! ' ! it)
S
=
5
h =
)
A
[ ——e——e—~ ——% -6 -6 - N
Motor,hall,encoder cable out/@! %
2x ¢ 3.0 THRU ALL 16 x 5.0 ¥ 17.0 b
L1 ¢8.0H7 v 10.0 M6x1.0-6H ¥ 12.0 PN
St/2+10(- Hardstop position St/2+10(+ Hardstop position E:'I\J
St/2+2(- Electrical limit position) St/2+2(+ Electrical limit position =
St/2-8(Home index position &f)
i
I . B il
| n
g ; = g g S o
S
— [} | [} [} L} [} L} ) ) E
‘ 57
(2N+4) x @ 6.6 THRU ALL 1=
L1911.07 6.4 (2N+4) x » 5.0 ¥ 17.0 4
/ »8.0H7 ¥ 8.0 From far side M6x1.0- 6HV 12.0 ©»8.0H7 x 10.0 ¥8.0 -
H I - _ N J _ H =
8 i SR AR O IS
1 \ | \ | \ i 1 =
A
V ! | ! | ! | b o
o I [ I I A o o "
| | | | KN 1" i
Lo i i i i | i i ! G
| | | | | | | | | a8
J \ [ \ B [ \ AP# i
| R ! ' ! - ! ! B Lo B ol "
120 =
(N-1) x 120 ?4;
Ls
i
|
P = B _ s 4% T
BuiR | | BAKELs | gars | "AE-RHES% z
(mm) (mm) (kg) DGL260 AUMS 51
HEE <2m/s
1 41.
100 > 610 > #4257 100% Stk
200 5 710 46.3 150
300 5 810 51.3 & 100
400 7 910 56.1 B 50
=
500 7 1010 63.2 0
0 50 100 150 200 250 300 350 400
600 9 1110 68.0 BEKE (mm)
700 9 1210 72.9 ——AUMS5-54 ——AUMS5-S2
800 11 1310 77.8 B H-EE s
0 | u 1410 sa.1 PIEGEAMS 54 BB PRGNS 54 3K “
1000 11 1510 89.6 3000 AFERR: 310V 3000 EUWEHEERE: 310V E
2500| ™ 2500 '
1100 13 1610 94.4 2000 3000 S
1200 13 1710 99.3 £1500 Z 1500 ©
R 1000 R 1000 2
500 500 =
0 0 ~ <
0 2 3 4 5 0 1 4
REE (m/s) & (m/s)
BED - IE{ES B8N —-&EH

065



DGL &%l

1T 9N (OPN)

m DGL260 ( BEi)

S

s
o4

el

ol Sk

s

BT

“

>R SIHIN

e
o4

H35 454 G i

]

Oh-H I

O et

RN

swaisAs siquy

b=
O AJMI00RFIERSIFE,
O TRETIZIEIE100mm, NFEMIEIR, BB R A I HE TR,

066



R e e A e i A e e A A e e i A ]

i s e B e A e A i A e A T

e e B el et e e T e e e S e Tt S A S

L e e e T e T s e T i A B e B B e T i

b om o e b mm e m e b 4 mmm o m m m b m o m m e m e b = = 4 m m m o h m m m m b = = 4 m m = = m b = = o h m m m b b mm 4 m = m m — m o o mm b m

L i T e At T i diaiet e i S e s At e T e i taiiit AR SR

B e B e e T e e e e A e e |

'
'
'

¥
'
'
'
'

¥
'
'
'
'
¥
'
'
'
'
¥
'
'
'
'

B e e e T R s i e e T et S |

'
'
'

¥
'
'
'
'

¥
'
'
'
'
¥
'
'
'
'
¥
'
'
'
'

D e e B T et B e de it d e e A

L e e e T s At T e e A e ae it S e B A B it

b om o b mm m o d mm e e b m b mmm o d m mmm b m o m —  m m m o h m m m m b m 4 m m m o h o m m b m m 4 m m m 4 = m b m 4 — m m b — b mm 4 m mmm o mmm o dmmmm b m o mm

D e T S i e i Attt T T i i s dte e T e SR

R e e T da e B A e A e T e

I e e i e it dhaa e e d S A

R e e T e T s S T e it de i T e da e

L e e e T et S e e s dits dee B e S s dit S e il

b om o e b mm m e m e b m b mmm o d — mmm b m o mmm o h — m m m b= m 4 m mm o h o m m b m m 4 m m m 4 = — m  m m m = 4 m mm b — b mm m 4 mmmm hm o — mmm 4 mmm b m o mmm

L e T e e i T de T T e e i it S e e e

I i At e A T e I e i A a e B e e e ]

I e i T i e e A e A et T e B i T i

L i T B e T e dE e e T i A B T e det e B e i e

b omm m A e e 4 e m e e mm e b m m 4 mmm o h — m m m b m m 4 mmmm 4 — — m b mm 4 mmmm b — b mmm 4 mmmm b m o — mmm 4 mm b m == 4

'
'
'
+
'
'
'
'
+
'
'
'
'
+
'
'
'
'
+
'
'
'
'

D i T T e i feet e T T T it At T et A et T O

I i At e A T e I e i A a e B e e e ]

L i e i T A T i de e  d A e T i ]

e T et B T e T e da e  d e e e e

L e e e e T e B e d I e e A e ittt S e B e At B

b om o e mm m o d mmm e b m b m e m o d  mmm b m o m m m o h m m m m b m m 4 m m m o d o m m b m m 4 m m m m 4 = — — h m m m = 4 m mm m b m o — — b mm m 4 mmmm hm o — mmm o dmmmm b m o mmm =

D i Tl B T e A e e T e S e e S T e e e e ]

I i At e A T e I e i A a e B e e e ]

L e T it e B A et T T e i B e i A S

e i e T e e B T e T e B et ae i e dae B ]

L i T B e T e dE e e T i A B T e det e B e i e



